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%$Gaussian distribution

clear all

close all

syms fx Fdist x;

var=1000; %$variance
sigma=sqgrt (var) ; $standard deviation

xbar=0; %mean

fx=1/ (sqrt (2%pi) *sigma) *exp (- (x-xbar) "2/ (2*var));%This is a probability density function«
(to get the probability we need to integrate)

int (fx,x)

x1=-10000;

x2=10000;

Fdist=eval (int (fx,x,x1,x2))

%$Gaussian distribution

clear fx x

x==-200:200;
fx=1/(sgrt (2*pi) *sigma) *exp (- (x-xbar) .2/ (2*var)) ;
plot (x,fx), title(strcat('mean=',num2str(xbar),'; variance=', num2str{var),'; probability¥

of X having a value between ',num2str(xl),' and ',num2str(x2),' is ',num2str (Fdist)))



mean=0; variance=1000; probability of X having a value between-10000 and10000 is1
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